1.
G=3000KM
p=0,6%
g=2g 4m 15d =57/24g
K=?
a)Vrijeme pretvoreno u godinama
K=G*p*g/100
K=(3000*0,6*57/24) /100
K=42,75KM

b)Vrijeme pretvoreno u mjesecima
K=G*p*m/1200
K=(3000*0,6*57/2)/1200
K=42,75KM

c)Vrijeme pretvoreno u danima
K=G*p*d/3600
K=3000*0,6*855/3600=42,75KM
2.
K=2400KM
p=6%
m=8m=2/3g
G=?
G=(K*100)/(p*g)
G=(2400*100)/6*2/3
G=60000KM


3.
d=155
p=2%
K=1200KM
G=?
G=(K*36000)/(p*d)
G=1200*36000/2*155
G=139354,84KM
4.
p=5,5%
G=161000KM
d=36
K=(G*p*d)/36000
K=161000*5,5*36/36000
K=855,50KM


5.
G=144000KM
p=6%
d=150
K=?
K=(G*p*d)/36000
K=144000*6*150/36000
K=3600KM


6.
G=87000KM
d=66
p=6%
K=?
K=(G*p*d)/36000
K=87000*6*66/36000
K=957KM

7.
G=183000KM
P=5%
d=930
K=?
K=(G*p*d)/36000
K=183000*5*930/36000
K=23637,50KM

8.
G=84324KM
p=5%
m=3
K=?
K=(G*p*m)/1200
K=84324*5*3/1200
K=1054,05KM

9.
G=18540KM
p=5%
d=133
K=?
K=(G*p*d)/36000
K=18540*5*133/36000
K=342,47KM

10.
G=78000KM
p=6%
d=66
K=?
K=(G*p*d)/36000
K=78000*6*66/3600
K=858KM
